2. A particle of mass m rests on a smooth plane that is initially horizontal. The
plane is raised to an inclination angle 6 at a constant rate a (so 8 = 0 att = 0),
causing the particle to move down the plane. Determine the motion of the
particle. Hint: It is best to place your origin at the fixed end of the plane and
define the distance r from the origin as one generalized coordinate and the angle
of inclination 0 as the other. Your differential equation for the motion will have a
general solution to the homogeneous part () and a particular solution to the
non-homogeneous part (rp).
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